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Ans o 1. 144
< 2 149
X 3 140
X< 4150

Q1 What will come in place of the blank in the following series?

112, 120, 128 136, . 152, 160, 168

Question ID : 959784401
Status : Answered
Chosen Option : 1

Q.2 pHeL & For oite # & ST HeET & M, &, 3T ReE o wEe & dhte ofiug & wewdt
F wE-wE &9 el W #ae R & #eieE e Roew e it o e et fae o ue oo
o e ofiue &1 T0iF HerT FaeE o ¢l el mer mm d

uiUE F UET FEET & o ¥ &6 UF 99 & uA & iy 59 ¥ oF v R & O a9 e
ufmg ¥ &t wewat & wEes Be ¥ B aaae S

ufiug & Faw U WU & faurew fow & BT waee fean &

ofitg ¥ Fae T GEE¥ & o7 (9@ & (o7 FdeE g

e & FaRe faw IR T e & e ®aae e &

=T F T B ¥ R a9 B

fage & ax Re & Riwg #aee fear 3

ofy foamew & faer & Toes Aog oo ol Gl & geed & o fae & v o maem T
o EeRE § @ FiF @ mUE T e TR

A . R 3 R R F e #gee e &
X 2 ReEe F Faed B & e #aea o €
X 3 IOT F FHANST Taol & UeT H HAdS [T g
X 4 For & Rraew R & e Jdge /R

Question ID : 959784420
Status : Not Attempted and Marked For Review
Chosen Option : --

s X Rar

Q.3 frfer & e Tet & enforh wad OXf ¥ A & & T § et 3 anfdE gt & g e &
oaTe O @ g3 & e @ g @ = wav Ee
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X 2. gIeT
X 3 =T
qf4.¥F§T

Question ID : 959784417
Status : Answered
Chosen Option : 4

4 3pfE x & HIO @ SUDRT BEE IS ST W arel AEE @ ueal

gt

(x)

Ans

<

x 2 [P

v &)

X4

Question ID : 959784438
Status : Answered
Chosen Option : 1

O & it F ¥ Ruw ey tead

HeAeHe

Bl

¥

(M 2

Ans K144
v
<35
X 43

)

4)

(5}

Question ID : 959784432
Status : Answered
Chosen Option : 4

Wb o dmaR e ER @ A gl @ Hsgada i g
& g THH A H Y F 3T | UG 30T ofF F o 99 B § R ¥ Huel 9ea @ W 99 7=

¥l @ @ sy Reae ¥

e X1 a0 ag
X2 45 au
X3 50 ag
v g0 a8
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Question ID : 959784412
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.7 e s-Hizen sARA @ ugeh, drdr i ofed #fve i s 11, o 3T 7 way ¥ aEd, siteh st od
AfSHT 9T FAW: 10, 8 W 6 FAY £ FI H FEIT UgeAT AT W U F YF G € 3T IR H g@y
AR Eh Ao 7 T I § #R o Ot 99 5% 5 I ¥, o9 9% o7 At § HRY FE
T Fax T fEm T 6 ¥ frarew Jax ok A & oo mIm-aEneew b ot o F o mar-adnmy E

Ans

THART # Fol fopaer MR HERET §2
X110
v 94
X378
X 4 98

Question ID : 959784414
Status : Not Answered
Chosen Option : --

Q.8 Select the option that is related to the third term in the same way as the second term is related to the first term.

Ans

TZVX :AGCE = VYWX:
< 1. DBCE

X 2 CIEG

v 3 BECD

X 4 EGFH

Question ID : 959784448
Status : Answered
Chosen Option : 2

Q9 T1dentify the figure which can be fb{me;d-by using the pieces in the figure (x):

<l

Ans
X0
v-' 2.
xa
x4
Question ID : 959784436
Status : Answered
Chosen Option : 2
Q.1
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e ampfaat fr s@en # 7w FAw AMen?

U HTEiaa-

‘ AlGO

i gAIAo . ‘OA?I"‘

89 AR[8 %lge 4
1

Question ID : 959784429
Status : Answered
Chosen Option : 1

01-1 TF FEF ¥ UF e @ - @ qOn & R R o oftome 3 3 Sea 5 R e amn an sws
mmﬁuﬁ#@ﬁamﬁmmmﬁg T R &t 3w ufureTasT 39
arEAfie T ¥ WE g @l 39 @ 140 TS S WH g3 9% HEAa §r

Ans _J' 1. 30

X 2 45

X325

< 4 35

Question ID : 959784413
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.1

> YW & FET T @A & 39 F W T 9y

AEIZ, EIMV, IMOQR, OSWL,
Ans X' 1. UYBF
v 2 UYCF
X 3 UYBG
X 4+ UYCG

Question ID : 959784404
Status : Answered
Chosen Option : 2

Q.1
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Ans

IR (S) & T Uiatad T Ug=e Bl

N

)

p S0

W2

&8

% o K| Pk

X 4

Question ID : 959784441
Status : Answered
Chosen Option : 2

041 T USATE FEER FU Hqpd UL Fae d9aT & AR 1 ke s [T 960 ¢ @ e M @7 U AT &

Ans

HegATea 1w ufderaar e @efe
X 1.5%

X2 4%

X 3 526%

v 417%

Question ID : 959784415
Status : Answered
Chosen Option : 2

Q.1 Fich e W m FE=A & & 36 § e 397 15 ¥ o gur S 27 Sm o ot s & we

5 ow # aem o ¥ dewr = &
Ans of 1. 69
X296
X387
X 478
Question ID : 959784416
Status : Answered
Chosen Option : 1
Q.1



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

AR B F fT F FY I WS T Y B 30w Aeed A R
uH BTl

; &R f;
2 Y | ?
e L=}

A B C D

ﬁm m T
Fiad Baks| Ladl [ Ladl

Ans X 1. 4
W23
K32
X4
Question ID : 959784427
Status : Answered
Chosen Option : 1
0%1 TR <TmHT - > T AT +, T HE X, sH HT = & @67 > 27 59 < 4 T 7T &
Ans of 1. 66
X262
X 3 64
< 4 68
Question ID : 959784423
Status : Answered
Chosen Option : 1
Q1 s0 Femnfrat & o g Fueh # afte @iFpie soag # s o arer et s st &

8  Fwmr o FEWE T 3:2 B SoHG @ HWT aE A9 anh ARt f vE soEd # 4w g e Al

get B HEA @ 5 HRE ¥ AR sewa & o S wrer gEer B @A 15 ¢, & sueh o feee afgent
ge

Ans X 1. 35

X 220

W3 30

X 425

Question ID : 959784447
Status : Not Answered
Chosen Option : --

Q.1
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B ansfaat Fr sfger F 3T FaT AT
UH FTETaar

EREEIEIR
C ® A X 0 %

5] o @ |0 x| D

Ay B © @ ®

0 A[0 A[0 A[0 A]0 A
o %o alo olo clo
M @ @ @ 6
Ans K13!

<24

W2

X 41

Question ID : 959784428
Status : Answered
Chosen Option : 4

Q.2 izzeE ogw @ awe & B g ie Rt 3 deveE o ¥ S0 ow O Red e gpw 277
0 wAferet ¥eTaE e § IR T% & e el R EelEe M ¥ SO 36 & o feddl & 5T 173
2| Yo & arterer 3 See weT & R Rer w2

<124 723
w2313 217
X Z12, 213
X 4215, 214

Question ID : 959784410
Status : Not Answered
Chosen Option : --

QZ BHEL $ 7o oftug # &1 T weem & amedh, oon, 3R R w6 35 & e oftug & @get
I AT T W AeE R - mea o, e e it e s e s
o TreE UftUe # Uede TEET AdCe oAl | et Je -

ofg & USdT TeTT F o F § oF UF O & e # 3t v © o v B & R #aee e d
UiuE F 21 FEEdl F FENeT O & B Faew TR g

UUE & dae Th HeEd & T B9 & R #oae femod

ofiue & A Tw TEET o o e & fow mEeE e ¥

A F FATT fow 3 e e & e maeE T E

FOT & FAT O F fows Faew e &

R & 7 Re ¥ Pe= oo G ¥

g aRwE & T TeTT & I W & e Feem R & Gwe ww ofive & 3w mewdl & feam
¥ o Tt § 9 #iF o Fua 9@ ga .

X o o v o F geT & Aqge fRm i
X 2 #Ior & e e & Ree #aew G &
X 2 HIOT F TS e & ust F o fRm B
v e & T fae & ue & Jaee R g

Question ID : 959784421
Status : Not Attempted and Marked For Review
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l Chosen Option : ==

2 dews
[20/37{as\_30 ) 40 |
S w WX

s for 7w 3 @ aemEa ot #Rk SeelfRe uw & s &

SR @ # YT 39 S B S ¥ S S o anewws & @ 99 Teeia e Hemne
G B e 1 1 0 B = - o e 1 e ) o e s o o o 31 o B+ |

TIF @ p HT q F T F HE FONR T FL I p

= caftrdl & T § S sfaem s ooty @& srrme @ ) ofea snerm @ ad eiw g 5
=Tt &1 dar § S JEt et @ seme e @ B

Ans K1. 1
v20
X2
X4

Question ID : 959784445
Status : Answered
Chosen Option : 4

052 38 Rrered @ =8 HY S dEl U @ 8% 3H e Welld € oW UeR gEd UE Ued U @ ®aRd
%l

FPET - HATH FRAT . FEfaSn -
Ans XT ﬁgﬁ'

' 2. THEAT

X 3 =9 T AT

X443'1Fq'1'§

Question ID : 959784407
Status : Answered
Chosen Option : 2

W & oS T men & Rwe gem w9
6, 9, 19, 14, 32, 19, 45, 25
Ans x 1. 14
X209
'3 25
X419

Question ID : 959784409
Status : Not Answered

Chosen Option : --

Q.2 15 o F # Ry o O giEt S aamn e ¥ uwr ust & ot et & o ¥ s s
5 v i@ awr st B sl AR o UAT SR ¥ S uslt & st & avgEw @ aEERor A ¥

w5 3o

SIS

<) @O B

fereReT STTETaar

e B IS B
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Ans

0w g

Question ID : 959784426
Status : Answered
Chosen Option : 3

Q2 et ¥ e a=at F fer T o ¥ e @ at £ e o e S 5 @ A o e

6 i @ g ¥ SR @ S @ Ey ke

e XK TSt

W2

&K 3 AT

X 4

£

arar

Question ID : 959784418
Status : Answered
Chosen Option : 2

Ans

X0

X 2

Question ID : 959784434
Status : Answered
Chosen Option : 4

Ans
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X2 (?

X 4

=

Question ID : 959784433
Status : Answered
Chosen Option : 3

Y R Y B e ¥ AW AR 7 B suge s @

3| GNQ 8

3| RBs 9

4 TUA 2

> | Epc 5

3 OLH ?
Ans X1 7
W25
X3 8
X446

Question ID : 959784446
Status : Answered
Chosen Option : 1

Q.3 f¥y & 7 oo W T (x) T § e oo R vdw E aw Reer w9 B w0
0 fxfer B ow m §

D A0

&

(x)

Ans

gl g

X 2 Eﬂh

v &) B &
[m]

X a

Question ID : 959784437
Status : Answered
Chosen Option : 3

Q.3
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" & o gy & gut fr wwA H vEr W

Ans \,1, 30
X2 28
< 3 32
X 429

Question ID : 959784443
Status : Answered
Chosen Option : 1

Qé3 R TieT & 78 o ¥ B s Ree o e oo et amuw o agen e d
54 IRF—IE =]

Ans JT i 3‘ﬂT L

Question ID : 959784424
Status : Not Answered
Chosen Option : --

oéaAaﬂTBé?Eh?ré?m-mTa-@ggn.?.ﬁ_wﬁ &

w’ﬂ}-/;)'l'
ol
o %)

Question ID : 959784425
Status : Answered
Chosen Option : 4

& wE anpledt F ¥ Rww gl veaE

A em = 1

(a) (b} fel {d) (e)
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«Z.C
X3e
X4d

Question ID : 959784431
Status : Answered
Chosen Option : 2

UH i
) (B) () (D) «(B)
m J—— T E 3 —_—

L2 P 1
(1) (2) (3) (4) (3)

Q3 _: 3 U G
5 YT & FET T 4Tel F A 7 5 T 1)
ADG, IMP, SVY, KNQ
Ans X 1. EHB
X 2 BHE
X 3 EBH
+ 4 BEH
Question ID : 959784405
Status : Answered
Chosen Option : 4
% e I B simen F M T M

Question ID : 959784430
Status : Answered
Chosen Option : 3

Ans
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Question ID : 959784435
Status : Answered
Chosen Option : 2

0{33 g & e go ¥ 3R S geRosdr ¥ (andomly) SHIAT ¥ U7 @ TR gEE % aTg gt el
Eseentl

X
| || (R

Question ID : 959784439
Status : Not Answered

Chosen Option : --

Q§3 su REpweE @ 999 &% S de UE @ a8 §eY 1@l ¥ S aEe Raeeag v O @ g

R#@XSO : #5S0Q@@% :: SHY¥OHE : ?
Ans  of 1 #£€YSO

X 2 BRSO

X 3 FHEESO

X 4 FOEHES

Question ID : 959784449
Status : Not Answered
Chosen Option : --

% P & gEm fow ¥
26, 50, 82, 168, 122
Ans x1. ]2
v 2 168
X 3122
< 4 50

Question ID : 959784450
Status : Not Answered
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l Chosen Option : --

Q.4 Re=ffim aga | o & et § ¥ 30 i @ teed oo R arefa 1w o F
T s afim b

~z

Ans
>0
W3 —
JF
> a4

Question ID : 959784440
Status : Answered
Chosen Option : 3

44 What will come in place of the blank in the following series?

5. 8.18. 21, .55.80
Ans X1‘ 25
W 2 34
X 3 40
X< 4 36

Question ID : 959784402
Status : Answered
Chosen Option : 2

Q.4 pHEL & HX uiwe & & &9 wewEw & MEd, @, AT ReE| v woE & v uftve & wewEdt
3 3 il O e W FoeE B ¥ wenee B, e e sk e B te Re s mw A
TEF fOvE UuS & UCHe BeET Ao & ¥ Eeateie Aer -

ofug & Uche TeTT 3 oF U &8 Uo Ow & uar F it o9 ¥ o v Re & R weee R d
uiug F & FEEdl 3 FANSS [9a & o Jges R

Uiue & &ae T Wt & fmew e & B mmee e d

oftve & Faw 1o weEw & o o ¥ B weew e ¥

IEY T FEREE e AR Tmem e F e #oes o

T F T e & B TEee R ¥

foes F ot fog & v Ao o &)

ol wor 9 & @ & e F Bw Faee war € o TR F @ B @ FuF 79 @ar aene

Ane X1 ameet & T B ¥ uar & mges Ream ¥
X2 0T & FANTE et & uar & maere fear ¥
X3 aor & T Taer & Toes e R g
v 4 wIor & Taarerw faer & usT # Hage fRam &

[
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Question ID : 959784422
Status : Not Answered
Chosen Option : --

U e (s) F avur uRRE & ogmE w7

¢ !

()

X @
V2 _J&

x| t\

X @r

Ans

Question ID : 959784442
Status : Answered
Chosen Option : 2

L aetRT eI 3 el gEar die o e

14294638, 3725, 43,
Ans X-L 4
W2 -1
X33
X 41

Question ID : 959784403
Status : Not Answered
Chosen Option : --

Q.4 The following Venn diagram represents the information of MLI.G. colony’s people. The triangle represents singers,
6 rectangle represents certified, square represents urban and circle represents professionals.

=
10 z
1z & 13
g 14
1z

‘Which one of the following represents the certified singers who are NOT professionals?

Ans X1 5
v 11
X309
X4 4

[ Question ID : 959784444
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Status : Not Answered

Chosen Option : --

Qf Select the option that is different from the others.
Ans o1 T 8 H=IB

K292 5=090

X3 526=60

X 48,6,2=96

Question ID : 959784408

Status : Not Answered

Chosen Option : --

Q.4 study the following arrangement and answer the question:
SDBMI14863% T@OUKSVIWSY2BEG6#9DHEG&ZN

How many such symbols are there in the given arrangement. each of which is immediately followed by a letter but NOT
immediately preceded by a number?

Ans X 1. Two
< 2. Four
« 3 Three
X 4 One

Question ID : 959784406

Status : Not Answered

Chosen Option : --

Q§4 Kindly study the following information carefully and answer the question that follows:

I is the sister of T.

T is married to D.

D is the father of R.

M is the son of H.

T is the mother-in-law of H.

D has only one son and no daughter.
Iis married of B. :

L is the daughter of B.

How is L related to T?
Ans X 1. Brother

X 2 Sister

W 3. Niece

X 4 Mother

Question ID : 959784419

Status : Not Answered

Chosen Option : --

Q.5 Dravid gets in the lift at the 11th floor of a shopping complex and rides up at the rate of 57 floors per minute. At the
0 same time, Arohi gets onto the lift at the 51st floor of the same complex and rides down at the rate of 63 floors per
minute. If they continue travelling at these rates, then at which floor will their paths cross?

A of 130
X219
X 3 37
X 428



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Question ID : 959784411

Chosen Option : --

Status : Not Answered

Section : General Awareness

Q1 13 gE-FAr S g W T AR & wenT F aeg a it & o o
Ans K1~ ﬁ, *

W 2 EFHTA

X 3. FArouset

X« i

Question ID : 959784479

Chosen Option : --

Status : Not Answered

Q.2 T TR § R At o sl frmw mh s e gwenst (medndire) & R s &
70 & FRd), T #R aRRE v, teew Re, REitee ot el § w0 d = @
e &l

e wifafe TEfaf T (TH.TE.HR.)
X 2 HAe Bl g (TH.0E.OE.) &)
X3 e
X 4 Tehg HRET 33U (HLAR.3R.)

Question ID : 959784494
Status : Answered
Chosen Option : 3

Q.3 ‘seaefEa dou ROE 2018 & SOt SEOT # PEARE #§ ¥ BhE 2 ufY cofn med Tun &
HYR W E 7 F gad 30 B & @1 g e i

ans X1 wiEs
X 2 RgmgR
X 3 @rgfaan
W 4 BIfET IR

Question ID : 959784455
Status : Answered
Chosen Option : 2

Q4 F==it & FRT HAUTET F W TS F Hed B AR F gA T SH AOTE ST F arer
UEel 3 T E?

e
X 2 gaaTs
'3 sregferm
X 4 FBYEH T HAJEH

Question ID : 959784457

Chosen Option : --

Status : Not Answered
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[

Q.5 sifeer @R & i ager St F URMEe TR W agid R (menerd) # Seene wmst @
o e & o Rrae fesmdt e weRRe R &2

Ans .{1' 21
X219
X317
X 4 31

Question ID : 959784466
Status : Not Answered
Chosen Option : ==

Q.6 2019 #F e g o 25d ELuE. A - HS. g Rer e & B siE @ g e @
WE-WIER 3R Bem?

Ans X1 mEd
v 2 degeis
X 5. TS
X4 ey

Question ID : 959784477
Status : Answered
Chosen Option : 4

Q7 mem gawr & grer & F WU 6331 T EE FA T AT WIS FT AST F LI UT?
At K13 FEER 1956
&< 21 FaaT 1957
v o1 FdaT 1956
X 4 3 FaaT 1959

Question ID : 959784481
Status : Answered
Chosen Option : 3

Q.8 2o & uRET g AR @R, & Juw F FEdE 2018 F w0 # e &9 Redw wed &
yeE ¥ Oew ¥R due # ardT ueeg 3 s geee wE

Ans ‘,1 . 1, ﬁ?

X 2 FIaS BT
X 3. 3%0T FAR e
X 4 g T
Question ID : 959784469
Status : Answered
Chosen Option : 3
Q.9 FFz mer (e Fveg) it RS Rew & @da) & Hierer fera ofgisen & B es

e 5o & =oT TEEle W geaeR fhw £
Ans XL mer v

-

X7 Torras
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v 3 afEem
X 4. FETE

Question ID : 959784499
Status : Answered
Chosen Option : 1

Ans {1'

> 2

Rrafias Ieoae U5 Aueieed gea (.3 ms)
X 3. RefiEs gaee U eRes gEa (dramoedn)
X+ RefAs Saaere gsa (dramdn)

Q.1 &z R § za0@s F W T A, A WA F HRECF AR FRES F URTAY F oy F A
0 3% Prrew sl & w0 & R & F B & TEa onfere R ¥

RefEs Faae iz s, s sieees sea (vare)

Question ID : 959784495
Status : Answered
Chosen Option : 1

Ane X R

X< 2 3T ueer

o 3 AT ueer
4 FeTaTTer

01-1 aTeTeer ufafRTT FHYE TUTEl F YR FEA ATl HRd &7 FHle-8 UgeT TsF ge I &7

Question ID : 959784454
Status : Answered
Chosen Option : 4

Q1 mror & e & # &9 core ediey deET @ uas.) & et & B Yar (palsA) oRe dea
2 ¥ dmr (parsa) @ QU RIEER @ de

Ans 1.

TIITWHIA FIT PISae hise U3 Ioeic Taud THuH
> 2

TICHIH B JBISad hisc U8 Secfe Fadeid T
v 3 UIEe BT HPIEael hiSe U8 Ie¢ic Taad Taad
X 4 UICe BIT HPSaol piec U5 SeeEc o THad

Question ID : 959784458
Status : Answered
Chosen Option : 2

Q.1

Ans ?(T E *
v 2 3fEem

5 A @ Ugen Feeel fheR Helcwa fhw =g # a3maifaa fear s
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X afEws
X 4 THETS

Question ID : 959784453
Status : Answered
Chosen Option : 4

041 Recently, RIMES termed Cyclone Titli as the rarest of the rare, What is the full form of

RIMES?

Ans X1-

Regional Integrated Maximum Hazard Early Warning System

X 2. Regional International Multi-Hazard Early Warning System
« 2 Regional Integrated Multi-Hazard Early Warning System
/< 4 Regionally Intensive Maximum Hazard Efficient Identifier

Question ID : 959784460
Status : Answered
Chosen Option : 2

Q1 gy & gorsh 3 AT 499 HRTET Thow FewT ¥ SN ASheEH e QTR @ R

5 TFATaa o mar &7

v EF drewde
X 2 Zge o

X 3 mEx mEd
X 4@ oaTH

Question ID : 959784451
Status : Not Answered
Chosen Option : --
Q1 ot Rw w O 35 e ol & B smdad. @ e e s @

6 m%waqqﬁ?réaﬁ%%vmamﬁzﬁmm%l
* X dE &
X2 s w2
X3 e
v o drae Bmh gl (TETETE.) &

Question ID : 959784489
Status : Answered
Chosen Option : 2

Q! gz w8 T HIRW WY T @HSr WO & HAl & & &

V' 1 sgatr geeTor st Bfle @
X 2 3ufdre wave #R Taeoar

X 3. mifgs MR gifcresy

X 4 =g 3T gaEsTar
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Question ID : 959784473
Status : Answered
Chosen Option : 2

% @i @ gr g ya F HUAT Teen TARN FaE EE gemIeme
Ans x1mm ﬁﬁ

X 2 ZaaATR

V3 e

X< 4 FTaTE

Question ID : 959784484
Status : Answered
Chosen Option : 3

Q.1 3. 3md.ow. worhar & URE & @@ 3R @R & § 16 w=R-3w iy # afhr ae $ B e
9 mifReE R & @Y TE TESE AT | R B

X qEter & RerE FEeT
X 2 arforsm F@ e
Vo srd T e ($ReE I i FiEe)
X+ &g AR FEOH TH FANEL

Question ID : 959784472
Status : Answered
Chosen Option : 3

Q2 g g faar T e 1094 T 35 S ‘v T T F A e frwet £ o
W oS 3w

X 3 30T FEe

X 4 g uy

Question ID : 959784485
Status : Answered
Chosen Option : 1

Q1~2 Kolkata was ranked first in the Ease of Moving Index 2018 issued by |
Ans - X 1. Moovit

# 2. Hyperloop One

/< 3. the Ministry of Road Transport and Highways

' 4. Ola Mobility Institute

Question ID : 959784480
Status : Answered
Chosen Option : 1

Q2 gzzrt & Ree B o st & B d5-gf @ 7o e & 33T ¥ sl faw few R
HATIT ST £

Ans
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X2 Faa
X 2 7 Faax
V'3 2 FaaT
X 417 Sde

Question ID : 959784483
Status : Answered
Chosen Option : 2

Qézaﬁamﬁﬂmﬁaﬁam@uma@méﬁzﬁmﬁﬁa-mmﬁaﬁgw
M aTeefer

X< 2 srafeaar

X3 T

X4 e

Question ID : 959784471
Status : Not Answered
Chosen Option : --

Q.2 FurEh gy HeAET a9 (FUTRAE.) AT GRS 9y A (.UE.) & T uger ZushT
4 sprm ey (sEDNYUU) 318 # g H R W Y g

Ans J‘]_ HET
X2 Rl
X 3. JITeE
)(4;3’3?

Question ID : 959784498
Status : Answered
Chosen Option : 1

Q.2 Fefer TER ERT UEATE Rraea ey o @ wer & # HEw oe HOeT § dveds §U Y
5 HegHee W Y R v ¥ 7w ufEiEn fhe ad w aE o o e

Ans XT a_m
< 2 e
v 3 FEd
X 4 goTeIET

Question ID : 959784452
Status : Answered
Chosen Option : 2

Q.2 fry aichgs Aftear @ § 99 W TR WHdlE & ded 1e a9 s oo g g
6 % 2353 @ A 60 WoE & T TeifiEe oiE OrERE @ aam w@r are

e X1 wmfaeE e
/< 2 T AR

X 2 3efEeRT QAT



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

v R e

Question ID : 959784475
Status : Answered
Chosen Option : 2

Q.2 zfEyor wiftar & fise Sier Jor Sexde @ UEel AW # wafag erdt @R @H # @eww it
7 i@ ww & sy & fw devde & aeaa 9 o

Ans XT g
X 2 i
X o e

v %Zlé'

Question ID : 959784492
Status : Not Answered
Chosen Option : --

Q2 frer a1 Zot F T AR TGS @ iR ad @ e R b
e XK1 ara 3R e

X 2 aga A e

v o aa 3R s=IfEEaE

X4 oRE AR warEar

Question ID : 959784476
Status : Not Answered
Chosen Option : --

Y sf¥ar 2019 @ Fg #R der frEe @e= feare
e g

X 2 3FOT el

X 3 gy T

X 4 gEeTy Pifag

Question ID : 959784459
Status : Answered
Chosen Option : 1

063 i T HTUIRAS WEaK GI&T BF Cylance (HIFeT) &1 1.4 37T er # @led o1 T &7
Ans X 1. TCOe

X 2 ATSHEFE

V'

X+ o

Question ID : 959784468
Status : Answered
Chosen Option : 2
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% mamE giew wma ¥ w TS F AT fear mm are
Ans (1m

< 2 Farerm

Xs.amﬁg

X + RBreim

Question ID : 959784474
Status : Not Answered
Chosen Option : --

02-3 o Flo & TR § gy & Bemee & o we F B v mes aefe sorel Rete
fr g2

M s e A SR
v w.ams A teTee
X 3 .38 5.8 HeHAeTEE
X 4 FereE

Question ID : 959784462
Status : Answered
Chosen Option : 2

U3 S, TowaE # ST RE-3RNET g deT HEAE B AH F E7
Ans ‘_,1, aam

& 2 gwoT

X s gEB-TS—‘-E[’I‘H

X 4 gaer SIEgTd

Question ID : 959784463
Status : Answered
Chosen Option : 1

Q.3 Zarsh g w7 g & wfeenst @ Tadsar g # onf¥e S 9RA &1 Tad B oR e &
4 goeE 3 R S B O B TE RS S w0 § 2RE o0 s T A A ® #r
TaTger Hr o

o a1 bt s
Vo i B T Yo

Question ID : 959784493
Status : Answered
Chosen Option : 3

Q.3 oftg 9T YRR ¥R URE & AT R Hefe WO Ues Reiar F HATET Qe
5 it tene (rETE.UEOE.) TN AR o B § menad e o b

X e e
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Question ID : 959784491
Status : Answered
Chosen Option : 2

063 et & ofer frvert & RBm after 19 o R e T oF fRr aw ot o A o Ee

X die st f g

v 2 of-gterm
X s gtgem 2018
X 4 TOTEes EEdesd

Question ID : 959784467
Status : Answered
Chosen Option : 2

0%3 gierm # oftenst & 2 e U9 wedes &7 sal LT & wafea feam o o

Ans X.Im
v g
x o g fewel
A i

Question ID : 959784464
Status : Answered
Chosen Option : 3

Qé3 The theme for World Environment Day 2018 held on June 5, 2018 was

Ans - 1. Prevent Pollutants

« 2 Beat Plastic Pollution

/< 3. Save Water

< 4 Save the Environment

Question ID : 959784488
Status : Answered
Chosen Option : 2

Q.3 Food Safety and Standards Authority of India (FSSAI) launched media campaign calling for elimination of

9 industrially produced trans-fat in the food supply.

Ans X 1. “Heart Trans-fat Rewind”

& 2 “Heart Fat Rewind”
< 3 “Heart Care Rewind"

o 4 “Heart Attack Rewind”

Question ID : 959784487
Status : Answered
Chosen Option : 3
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Question ID : 959784465
Status : Not Answered
Chosen Option : --

% = dem. e F uen vgen e dedw= fRE foge TR ame
Ans 1. TFOT Yad

o 2 3TferaT HEE
X 3 AT T
X 4 enfeg T
Question ID : 959784470
Status : Answered
Chosen Option : 2
Q.4 F TEd FE T Ry wr T Bduew @ shrsd) F w=u s (s BN) & A

2 3 ofefes Ao # T R
Ans KT mQT P

Question ID : 959784500
Status : Answered
Chosen Option : 4

Qé"f 3T T O U o g & oW 9=9 & 9FH o =9 Ao & for o S

s X . g weeE
X 2 o
v 3 TR

K 4 ear
Question ID : 959784490
Status : Not Answered
Chosen Option : --
Q.4 T fiRdex a frdhe & Tl WIRGT & AU TeaTE A OIwUr w8 &1 3ue Reefén it F

4 Seeiet ARA & o0 e 58 e¥e #4147 g AR 37 &-z20 Fw @A I
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Question ID : 959784496
Status : Answered
Chosen Option : 1

Q4 g @ ew F9 HiEdea # I T AR U Al #E & 27 der 2014 @ TES T

5 FEEA F FAE FA GO B T W T F AU B HEE TR |
Ans X1~ 5 E .
X228 WS
X 3. 25 3FEAT
V21 S
Question ID : 959784497
Status : Answered
Chosen Option : 4
Q.4 pfzenat & Free Rwr s=x@a & B dady faw (Edddoseey) oRad @ QY T #
6w s ¥
Ans 1. 25 3FgER
X 2 15 FJ=
X 3 29 AgaX
v 4 25 FaeT

Question ID : 959784461
Status : Answered
Chosen Option : 2

Q§4 FfEen & FEwd whT seaee BN CER SR e fRe s F oy ey (sew) & s de

Ans ?(1

Tt B Tehpa e AR T Tareew @ WiET wer
> 2
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X 3 ZaTeRt & U A IR HAT
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Question ID : 959784478
Status : Answered
Chosen Option : 4
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Question ID : 959784482
Status : Answered
Chosen Option : 4

' Yttet @ sieRTET Rmw o mar S ¥

Ans X1'? 7-
X 218 3ITES
X 3 23 3WTET

v 4 8 T

Question ID : 959784486
Status : Not Answered
Chosen Option : --

Q.5 The Ministry of Road Transport and Highways recently added which item as a ““non-transport™ vehicle under the Motor
0 Vehicles Act, 1988?

A /1. Quadricyele
X 2. Wheelchair
/< 3. Bicycle
/< 4 Unicycle

Question ID : 959784456
Status : Answered
Chosen Option : 2

Section : General Engineering Civil

Q.1 The chemical examination or test of water is carried out to determine the
Ans 1. turbidity

< 2 bacteria

' 3 total solids

/< 4. temperature

Question ID : 959784501
Status : Answered
Chosen Option : 1

92 The soundness of cement is tested by

Ans % 1. Vicat apparatus
/< 2. none of the given options
/< 3. Compressive strength testing apparatus
« 4 Le-chatelier's apparatus

Question ID : 959784540
Status : Answered
Chosen Option : 4
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Q.3 is the ratio of the consumptive use of water to the amount of water depleted from the
root zone.

Ans X 1. Water application efficiency
/< 2. Water use efficiency
X 3. Water conveyance efficiency

' 4 Consumptive use efficiency

Question ID : 959784523
Status : Answered
Chosen Option : 1

Q4 The angle between the gauge faces of the stock rail and tongue rail is called the:
Ans X 1. angle of crossing

# 2. angle of turn out

W 3 switch angle

4 none of the given options

Question ID : 959784520
Status : Answered
Chosen Option : 1

Q5 The factors to be consider in connection with specifying a concrete mix ate:

1) Water-cement ratio

2) Cement-aggregate ratio or cement content
3) Gradation of the aggregates

4) Consistency

Ans 51 Only 1 and3
W2 1.2 3and4
/<3 Only1
/< 4 Only 2 and 4

Question ID : 959784512
Status : Answered
Chosen Option : 2

Q.6 An artificially built, raised platform of any suitable shape at an intersection for the
channelisation of traffic is called

Ans X 1. none of the given options
& 2 kerb
X 3. traffic signal
v * central island

Question ID : 959784521
Status : Answered
Chosen Option : 2

Q7 YWhich of the following is NOT a method of compaction of concrete?
Ans x 1. Tﬂmpmg
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« 2 Kneading
# 3 Spinning
/< 4 Ramming

Question ID : 959784511
Status : Answered
Chosen Option : 3

Q.8 A beam of 250 mm width is reinforced with Fe415. Grade of the concrete is M25. The ultimate moment acting at the
section is 138 kN"m. What must be the minimum effective depth such that it is safe in limit state of flexure?

Ans 1. 500 mm
v 2 650 mm
< 3. 400 mm
& 4 360 mm

Question ID : 959784592

Status : Not Attempted and Marked For Review
Chosen Option : --

Q9 In compaction test, if compactive effort is increased. it

Ans o 1 increases maximum dry density but OMC is decreased
X 2 increases both maximum dry density and OMC

X 2. increases maximum dry density but OMC remains same

X 4 increases OMC but maximum dry density remains same

Question ID : 959784554
Status : Answered
Chosen Option : 1

Q.1 The maximum size of coarse aggregate that could be conveniently used for concrete making is

0

Ans X 1. 10 mm
X 2 40 mm
< 3 20mm
W 4 80 mm

Question ID : 959784510
Status : Answered
Chosen Option : 2

Q.1 My fim =k fckt:id2 is the ultimate moment of resistance of a singly reinforced balanced section, match the value of *k’

for different grades of steel.
k Steel grade
(1) 0.133 (a) Fe 250
(ii) 0.149 (b) Fe 500
(iif) 0.138 (c) Fe 415

Ans 1. (D)=(c), (D)-(b). (ifi)-(a)
X 2 (D)-(b), (Gi)-(0), ({ii)r(a)
W & (D-(0). (ii)-(a). (iii)-(c)
X 4 ()-(2), (iD)-(b). (iii)y(c)

Question ID : 959784587
Status : Answered
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Chosen Option : 3

°é1 Oxygen deficit is equal to:

Ans - X 1. Actual DO
< 2. Saturated DO ~ Actual DO
v 3 Saturated DO — Actual DO
& 4 Saturated DO

Question ID : 959784504
Status : Answered
Chosen Option : 2

Ans o 1. 1/60
X 2 1/50
< 3 1/40
X< 4120

Q; The IS code recommends that the tilt for a well foundation should NOT exceed:

Question ID : 959784555
Status : Answered
Chosen Option: 3

Ans X 1. Parabola

X 2. Cubic parabola
/< 3. Lemniscate
« 4 Spiral

Q: Which of the following fulfills the condition of an ideal transition curve?

Question ID : 959784514
Status : Answered
Chosen Option : 4

Ans 1. beam columns
< 2 beams

¥ 3 columns

/< 4 shear legs

Q. e 5 . , : ‘ ; .
51 The load bearing stiffeners in a steel plate girder are designed as:

Question ID : 959784595
Status : Answered
Chosen Option : 3

6 called:

Ans o 1. prohibitory signs

/< 2. introductory signs

# 3. cautionary signs

7< 4. None of the given options

Q.1 The traffic signs that indicate prohibition (the non-compliance of which is an offence) are
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Question ID : 959784522
Status : Answered
Chosen Option : 1

Q.1 The term indicates the incidental expenses of a miscellaneous character which CANNOT be practiced during
7 the preparation of the estimate and to meet such expenses an additional amount of 3 to 5% of the estimated cost is
provided.

Ans 1. Prime cost
/< 2. None of the given options
/< 3. work charge establishment

« 4 contingencies

Question ID : 959784532
Status : Answered
Chosen Option : 4

Q.1 A rectangular slab having effective lengths L_and L supported along four sides on unyielding
supports is subject to a uniform load “w* per unit area. Share of the load on a central strip of

unit width parallel to Ly is given by —-
by:

Ans - X 1. Leonhard Euler
#C 2 Macquorn Rankine
< 3 Muller-Breslau
' * Rankine-Grashoff

Ly ” . ! - B
SR +Ly.w This method of approximate analysis was given

Question ID : 959784586
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.1 Animaginary line lying throughout on the surface of the earth and preserving a constant inclination to the horizontal is
9 knownas

Ans o 1. contour gradient
#< 2 contour interval
/< 3. none of the given options

< 4 contour line

Question ID : 959784548
Status : Answered
Chosen Option : 1

Q.2 A connection where two angles are used, one on each side of web of beam to transfer end
0 reaction of the beam to the flange of column using bolts as connectors is called:

Ans X 1. stiffened seat connection

+ 2. framed connection

& 3 unstiffened seat connection
& 4 moment resistance connection

Question ID : 959784593
Status : Answered
Chosen Option : 2

°1'2 The stresses in the railway track are produced due to
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[ |Ans > 1. dynamic effect of wheel loads
« 2 all the given options
< 3. horizontal thrust due to nosing action of the locomotive

< 4 wheel loads and hammer blows

Question ID : 959784518
Status : Answered
Chosen Option : 2

Q.2 makes use of the phenomenon that difference in elevation between two points is proportional to the difference
2  inatmospheric pressures at those points.

Ans 1. Trignometric levelling
+ 2. Barometric levelling
/< 3. Spirit Levelling

X 4. Differential levelling

Question ID : 959784546
Status : Answered
Chosen Option : 2

Qéz The impacts of air pollutants on plants are:
Ans X 1. soil erosion, necrosis and chlorosis
o 2 abscission, necrosis and chlorosis
/< 3. abscission, soil erosion and chloresis

7< 4. necrosis. chlorosis and photosynthesis

Question ID : 959784506
Status : Answered
Chosen Option : 4

Q.2 A retaining wall has a 30° angle of internal coefficient of friction for baekfill. How much is the coefficient of active
4 earth pressure?

Ans K11
3
2++/3
- I e
22—v’3
7o 23
i 2++/3
X 43

Question ID : 959784568
Status : Answered
Chosen Option : 1

92 A clay in flocculated structure has

Ans o 1. high permeability. high strength and low compressibility
X 2. high permeability. high strength and high compressibility
2 3. low permeability, high strength and low compressibility
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/< 4 low permeability, low strength and high compressibility

Question ID : 959784550
Status : Answered
Chosen Option : 4

92 What type of pressure is measured by Bourdon gauge?
Ans 1. Local atmospheric pressure

W 2. Gauge pressure

/< 3. Standard atmospheric pressure

2 4. Absolute pressure

Question ID : 959784558
Status : Answered
Chosen Option : 2

%2 Bemnoulli’s equation is applicable between any two points:
Ans X 1. in any rotational flow of an inc ompres_siblavfﬂﬁid.
« 2. in steady, irrotational flow of an incompressible fluid.
< 3. in steady rotational flow of an incompressible fluid.

X 4 inany type of irrotational flow of a fluid.

Question ID : 959784559
Status : Answered
Chosen Option : 2

Q.2 A damof 12 m height is of a rectangular cross section. What must be the width of dam to avoid overturning when water
8 is stored on one side of it up to three-quarters of its height?

Consider unit weight of water = 10 kN/m> and unit weight of concrete = 25 kN/m’
Ans
X1 245 m
7 e
2. —m
Y10
X3 4m
X4 47m

Question ID : 959784575
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.2 There are two sections. The first is a symmetric hollow square section of outer dimension *a’ and inner dimension ‘a/2’.
9  The second is a symmetric I section having flange width ‘a” and flange depth a/4". It has a square web of side *a/2".

If the moment of inertia about centroidal X-axis of box section = L,
moment of inertia about centroidal Y-axis of box section = L.

and moment of inertia about centroidal X-axis of I section = Ix,;1

and moment of inertia about centroidal Y-axis of I section = Ty,

then which of the following is true for the above sections?

Ane XK1 L™ Texi
X2 Lo =Ty
W 3 Ty < L and Lo = Iy

<4 L = Iy a0 Ty = Ly
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Question ID : 959784574
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.3 The tentative amounts/prices quoted for specialised items (such as installation of lifts, air-
0  conditioners, fire-fighting equipment etc.), which are NOT known at the time of preparing the
estimate are called
Ans 1. jtem cost
« 2. prime cost
/< 3. contingencies

/< 4 provisional sum

Question ID : 959784538
Status : Answered
Chosen Option : 4

013 The first watering after the crop was grown by a few centimetres is known as:
Ans 1. none of these

/X 2. primary watering

/< 3. initial watering

« 4 kor watering

Question ID : 959784526
Status : Answered
Chosen Option : 4

Q.3 As per section 353B, incorporated in Mumbai Municipal Corporation Act, 1888, every owner or oceupier has to get
2  structural audit done and submit the structural stability certificate to the commissioner. if the structure had been issued
completion certificate by the corporation years ago.

A of 1. 30
X< 2 40
< 3. 60
X 4 50

Question ID : 959784584
Status : Not Attempted and Marked For Review
Chosen Option : --

Q-3 Two soils A and B have their void ratios of 0.50 and 0.60 respectively. The ratio of their
porosities will be:

Ans of 1. 8/9
X2 5/6
X3 7/8
X 467

Question ID : 959784556
Status : Answered
Chosen Option : 1

Q‘-‘3 The minimum ductility value generally specified in pavement construction is:

Ans X 1. 25-75 em
¥ 2 50-75 cm
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X 3 75-100 cm
&K 4 40-50 cm

Question ID : 959784516
Status : Answered
Chosen Option : 4

Ans X 1. soundness
« 2. consistency
& 3. fineness
X 4 strength

43 Before testing the ‘setting time’ of cement. one should test its

Question ID : 959784543
Status : Answered

Chosen Option : 2

Ans X 1. Prismoidal Formula
# 2 end area

/< 3. mean area

063 The volume of earthwork can be calculated by

' 4 mean area, end area and prismoidal formula

Question ID : 959784545
Status : Answered
Chosen Option : 1

Ans 2 1. Robert E Horten
/< 2. Merrill Bernard
« 2 Leroy K Sherman
2 4 WW Horner

93 Unit hydrograph theory was enunciated by .

Question ID : 959784524
Status : Not Attempted and Marked For Review
Chosen Option : --

eradually, the column will buckle with respect to the:

Ans X 1. zz-axis first

& 2 xx-axis first

« 3. yy and 7z axis simultaneously

/< 4 yy-axis first

Q.3 A built-up column section is made up of two channels connected by lacing bars placed back to back at certain spacing
8  suchthatI,, > Ly (yy axis is parallel to web of channels and zz axis is normal to web of channels. Both, the yy and zz
axes are passing from the centroid of the compound section). If the axial compressive load on the column is increased

Question ID : 959784598
Status : Answered
Chosen Option : 4

Q§3 The art of assessing present fair value of a property at a stated time is called
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2< 1. None of the given options
' 2 valuation
/< 3. bidding

< 4 estimation

Question ID : 959784535
Status : Answered
Chosen Option : 2

0
X 1.12m
<2 3m
v3i6m
X 4 10m

Q.4 The maximum permissible suction lift for a centrifugal pump in practice (at sea level and 30°) is:

Question ID : 959784565
Status : Answered
Chosen Option : 4

~+ indicates sagging moment and
— indicates hogging moment.

Ans

below is:
[
4 i e .
4 Pﬂmamﬁmj
Y !: 'C

PR P,
r S8 i

/
--u,.*_

° 4 The expected bending moment diagram for the beam loaded as shown

Question ID : 959784571
Status : Answered
Chosen Option : 1

Q.4 The minimum length of overtaking zone should be
2 distance.

Ans x 1. five
V' 2 three
/< 3. four

_ times the safe overtaking sight
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X 4 two

Question ID : 959784513
Status : Answered
Chosen Option : 4

% Rt § 9 Fa-m @ vewo & vwe & ¥

Ans x1 .
o 2 A ST
X 3. I=9 THET
X 4 Frafie aTaan

Question ID : 959784509
Status : Answered
Chosen Option : 3

044 In case of rules for the deductions for brickwork, NO deduction shall be made for:
Ans X 1. openings upto 1.1 m?

/< 2. openings upto 1.5 m?

« 3 openings upto 0.1 m?

/< 4. openings upto 2 m?

Question ID : 959784537
Status : Answered
Chosen Option : 3

Q;' The number of subdivisions per meter length of a levelling staff is

Ans X 1. 300
X 2100
W 3 200
< 4500

Question ID : 959784544
Status : Answered
Chosen Option : 4

@4 If the plasticity index of soil lies above the A line, its permeability is:

Ans x 1. hlgh

W 2 very low

2 3 medium

X 4 low

Question ID : 959784549
Status : Answered
Chosen Option : 2

Q.4 - ] i
; PR & AR, o7 & # aeffga from =1 @ B

Ars X1 R TallTs



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

v2p Q3s
x3- Q, S3’ﬂ'\" T
X+4p R3R T

Question ID : 959784503
Status : Not Answered
Chosen Option : --

Q.4 In a one-way continuous slab having simple support at the ends, the maximum bending moment will act at the:
8

Ane X 1. mid of the end span
' 2. support next to the end support
/< 3. end support
X 4. mid of the interior span

Question ID : 959784588
Status : Answered
Chosen Option : 4

Q.4 The estimated value of a built up property at the end of its useful life WITHOUT being dismantled is called .
9

Ans ¢ 1. scrap value
& 2 market value
o 3 salvage value

/< 4 book value

Question ID : 959784533
Status : Answered
Chosen Option : 3

@5 The sensitivity of a bubble ube mainly dependson .
Ans 1. the diameter of tube

X 2 the viscosity and surface tension

/< 3. the length of vapour bubble

« 4. all given options

Question ID : 959784547
Status : Answered
Chosen Option : 4

Q.5
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Ans

Identify the wrong entry in the following table.

Column (A) ‘
Factors responsible for
increase in water demand
in concrete

Column (B)
Factors responsible for
reduction in water demand

in concrete

(I) Increase in aggregate
size

(a) Reduction in slump

(IT) A reduction in
proportion of the coarse
aggregate to fine
aggregate

(b) Rounded aggregate

(IIT) Aggregates
angularity

(¢) Increase in temp

<1 (I

X 2 (D and ()

v ¢ (a)and (c)

X 4 (IID), (b) and (¢)

Question ID : 959784577
Status : Answered

Chosen Option : 4

2
Ans

/< . moment in beam

« 2. web crippling of beam

< 3. lateral buckling of beam

#< 4 shear in beam

Q.5 In case of unstiffened seat connection. the minimum bearing length of angle is decided by considering the:

Question ID : 959784594
Status : Answered

Chosen Option : 3

Ans

What must be the value of ‘h’ such that centroid of the section coincides with line AB?

X 1. 40 mm
X 2 50 mm
X 3 75 mm
W 4 80 mm

Question ID : 959784570
Status : Not Attempted and Marked For Review

Chosen Option : --

Ans

average compressive strength of the batch of three cubes by:

v +10%
<2 4+20%

Q.5 A repeat test shall be made if individual compressive strength of a cube varies from the
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X 3 +250
X 4 +159%

Question ID : 959784576
Status : Answered
Chosen Option : 4

Q.5 Before testing of materials and conerete, all materials shall be brought to room temp,
preferably:

Ans X 12745C"
X22742 C°
X327+1¢°
VAR

Question ID : 959784578
Status : Answered
Chosen Option : 2

Q.5 The ultimate load capacity of an RCC column with lateral ties is attained when it develops a limiting strain of s
6 rlesulting in a uniform stress of in the concrete.

Ans X 1. 0.0035, fok
X 2 0.0035,0.67 fo
W 3. 0.002, 0.446f
X 4.0.002, 0.67f

Question ID : 959784585
Status : Answered
Chosen Option : 3

QS What is the turbulent shear stress according to Prandtl’s mixing length theory?

- pz(‘;—;)
v 2 pl?(du? [dy)?
X 3 p? I2(du/dy)>
X 4 pl(du/dy)*

Question ID : 959784561
Status : Not Answered
Chosen Option : --

Q.5 The coefficient of discharge of a suppressed rectangular weir at the limit of application of
8 Rehbock formula is:

Ans X 1. 1.06
X 2 0.786
X 3 0.886
v 4 0.986

Question ID : 959784563
Status : Answered
Chosen Option : 3
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Q,f The measurement unit of white washing is
Ans 5 1. running meter

< 2 kilogramme

X 3. cubic metre

o 4. square metre

Question ID : 959784536
Status : Answered
Chosen Option : 4

L6 T vare rast weEeR aF ar Yo Rww e € e @
M T Faee o

X 2 OTHEE Fage! WY & T 3T

X 3 HIAET Hagel T

X4 Ty Aot

Question ID : 959784560
Status : Answered
Chosen Option : 2

% S Rafrem sRe @ fves Rees Faw § R o i
X aerfae @e gaTE (GeaifEe)

v i s (isfrer) AR sresiietor

X o HfE e (Hefe)

X+ srEsiraoT

Question ID : 959784505
Status : Answered
Chosen Option : 1

Q.6 When only transverse stiffeners are provided in a plate girder, the web shall be considered as unstiffened if distance
2  between the transverse stiffeners is:

Ans % 1. more than 3 times the distance between the flanges
/< 2. more than 3 times the distance between the flanges
/< 3. more than 1/5 times the span
v

more than 3 times the distance between the flanges but less than 5 times

Question ID : 959784596
Status : Answered
Chosen Option : 4

Q.6 The air mass rises up because of increased turbulence and friction; when it ultimately condenses. precipitation oceurs.
3 Such type of precipitation is called:

Ans 1. arographic precipitation

/< 2. cyclonic precipitation
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/< 3. convective precipitation

« 4 precipitation due to turbulent ascent

Question ID : 959784502
Status : Answered
Chosen Option : 4

3 2
Ife,= g;i— and v, = :—’—:; are slope and deflection at B, the values for ©, and y. will be:

Ans x . ng. W_Li
A8EI' 8E]

, Wit 7w

6E[" 24E]

wl® wL*

 6EI'8EI
wl? wiL*

 8EI'24E]

X3

.

Question ID : 959784573
Status : Answered
Chosen Option : 3

Q;’ The defects of a tree caused by injuries sustained during its young age are called .
Ans of 1 burls

& 2 shakes

/< 3. upsets

& 4 knots

Question ID : 959784542
Status : Answered
Chosen Option : 1

Qés ‘Which of the following is used to determine the specific gravity of cement?
Ans - X 1. Gillmore Needle method

/< 2. Vicat apparatus

« 3 Le Chatelier flask

X 4 Le Chatelier mould

Question ID : 959784582
Status : Answered
Chosen Option : 3

Q.6 A graph in which the discharge is on the y-axis and the corresponding time is on the x-axis, is known as:
7

Ans 1. hydrograph
/< 2 seismograph
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3 pentagraph
< 4 none of the others

Question ID : 959784527
Status : Answered
Chosen Option : 1

Q.6 For costal protection works such as breakwater and tetrapod, which of the following type of
8  cement is advisable?

Ans o 1. Sulphate resisting cement

& 2 Low heat cement

/< 3. Portland Pozzolana cement
/< 4. Ordinary Portland cement

Question ID : 959784583
Status : Answered
Chosen Option : 1

Q.6 A sample of clay has a liquid limit of 60%, a plastic limit of 30%, and natural water content of
9 40%. Its liquidity index is:

Ans X 1. 67%
< 2. 100%
X 3. 50%
W 4 33%

Question ID : 959784552
Status : Answered
Chosen Option : 4

Q.7 In concrete pavements, the critical combination of stresses at the edge of the slab during summer mid-day is:
0

Ans - X 1. Load stress - warping stress - frictional stress

/< 2. Load stress —~ warpi

g stress

/< 3. Load stress — warping stress + fri ctional stress

« 4. Load stress + warping stress - frictional stress

Question ID : 959784517
Status : Answered
Chosen Option : 3

Q1~7 The unit speed N, of a turbine of rotational speed N and head H is equal to:
Ans X 1 {\VH
H

x|
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Question ID : 959784564
Status : Answered
Chosen Option : 1

Q.7 The aggregate impact value should NOT exceed for water-bound macadam base courses.
2

Ans ?(1. 30%
X 2 40%
v 3 35%
X 4 27%

Question ID : 959784515
Status : Answered
Chosen Option : 3

Q.7 A fixed beam of 6 m span is supporting a uniformly distributed load of 10 kN/m. What will be
the maximum flexural stresses acting. if the sectional modulus is 200 = 10° mm3?

Ans X 1. 150 MPa
2 2. 300 MPa
X 3 75 MPa
W 4 225 MPa

Question ID : 959784569
Status : Not Attempted and Marked For Review
Chosen Option : ==

Q.7 IfR is the *hydraulic mean radius’ and D is the depth of water, the section of canal will be
most economical when

Ans 5 1. none of the given options

< 2D=R
W3 R=D/2
X 4 D=R2

Question ID : 959784531
Status : Answered
Chosen Option : 3

Q7 Inthe soil specimen of a consolidometer test, pore water is maximum at:

Ans % 1. the bottom of the specimen

« 2. the center of the specimen

7% 3. the top of the specimen

/< 4. one-quarter of height

Question ID : 959784551
Status : Answered
Chosen Option : 1

Q.7
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Shown above is bending moment diagram (+ indicates sagging moment and — indicates hogging moment) for the beam
ABC shown below.
The values of Wy, M. W> and Ry will be:

L ; i
[ |

7

Ans - 1. S0 KN, 20 kN'm, 10 kN, 10 kN
v 2 10 KN, 10 kN'm, 20 kN, 5 kN
# 3 10KN, 20 kN'm, 10 kN, 5 kN

X 4 SOKN, 10 kKN'm, 5 kN, 15 kN

Question ID : 959784572
Status : Not Answered
Chosen Option : --

97 Design strength of a tension member under axial tension is:

Ans «1_

lowest of design strength due to yielding of gross section, rupture of net cross section and block shear at end connection.

X 2

lesser of design strength due to yielding of gross section and rupture of net cross section.

X 3

lesser of design strength due to yielding of gross section and block shear at end connection.

X 4

lesser of design strength due to rupture of net cross section and block shear at end connection.

Question ID : 959784600
Status : Answered
Chosen Option : 1

Q.7 A solid shaft ACB is of circular cross section. It is 4 m long and has fixed ends. A torque is applied at C. 1 m from end
8 A.IfT,and Ty are torques developed at ends A and B respectively, then:

Ans | 5% 1, Ty=4T,

X 2 T,=4Ty
/53 T,=3Ty
v 4 Ty=3T,

Question ID : 959784567
Status : Answered
Chosen Option : 2

&7 The soil moisture useful for the growth of a plant is called:
Ans X 1. none of the others

o 2 capillary water

/< 3. hygroscopic water

X 4. gravity water

Question ID : 959784525
Status : Answered
Chosen Option : 2
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@8 The Bangalore method of composting of solid waste is:
Ans X 1. aerobie

& 2 Facultative

' 3 anaerobic

& 4 anaerobic and aerobic

Chosen Option : 3

Question ID : 959784507
Status : Answered

01-8 Which of the following methods of designation of crossing is mostly used in India?

Ans X 1. Isosceles angle method
X 2 Centre line method
/< 3. None of the given options

« 4 Right angle method

Chosen Option : 4

Question ID : 959784519
Status : Answered

Q.8 In defining a Froude number applicable to channels of any shape, the length parameter used is
2 the:

Ans % 1. depth of flow
X 2 hydraulic radius
< 3 wetted perimeter

« . ratio of area to top width

Chosen Option : 2

Question ID : 959784562
Status : Answered

Q.8 For a circular water tank of 6 m diameter and 4 m height resting on the ground and having
3 flexible joints between the floor and the wall, the maximum hoop tension will be developed at:

Ans o 1 the bottom edge

/< 2 the top edge

& 3 1.6 m from the bottom
X 4 2m from the bottom

Chosen Option : 2

Question ID : 959784591
Status : Answered

Q.8 A comcrete slab encases the top flange of a beam such that the bottom surface of the concrete
4 slab is flush with the bottom of the top flange of the beam. In this case, which of the options is
a true statement?

Ans x‘].

Beam is laterally unsupported against lateral torsional buckling and design bending strength is
governed by yield stress.

X 2

Beam is laterally supported against lateral torsional buckling and design bending strength is
governed by yield stress.
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v 5

Beam is laterally supported against lateral torsional buckling and design bending strength is
governed by lateral torsional buckling strength.

X
Beam is laterally unsupported against lateral torsional buckling and design bending strength is
governed by lateral torsional buckling strength.

Question ID : 959784599
Status : Not Answered
Chosen Option : --

Qéa ‘What shall be the minimum grade of concrete for reinforced concrete works?

Ans 1. M10
X 2. M15
X 3 M25
v 4 M20

Question ID : 959784579
Status : Answered
Chosen Option : 4

Q.8 A column *AB’ is fixed at end A and hinged at end B. As per Euler’s theory, what is the percentage increase in the
6 capacity of the column if the hinge at B is replaced by a fixed support?

Ans “1_ 50
X290

< 3100
X 4 70.72

Question ID : 959784566
Status : Answered
Chosen Option : 2

Q.8 A reinforced concrete square footing of side 2 m and uniform effective depth 200 mm is provided for a 400 mm * 400
7  mm column, which is designed to carry 400 kN ultimate load. The shear stresses at critical section with reference to
one-way shear will be:

Ans X 1. 0.5 MPa
v 2 0.4 MPa
X 3 0.3 MPa
X 4 0.25 MPa

Question ID : 959784589
Status : Not Answered
Chosen Option : --

Q8 A shear key is provided in the bottom slab of the retaining wall to:
Ans X 1. avoid overturning failure about the toe

X 2 avoid crushing failure of the stem

' 3 avoid failure due to sliding

/< 4 distribute the backfill pressure uniformly

Question ID : 959784590
Status : Answered
Chosen Option : 3
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| 98 Admixtures are used in concrete to:
Ans 1. modify the properties of hardened concrete.
/< 2. modify the properties of fresh concrete.

« 2 modify the properties of fresh as well as hardened concrete.
p o

modify the specific gravity of cement and aggregates in the concrete.

Question ID : 959784580
Status : Answered
Chosen Option : 2

@9 Acceptable noise levels for rural areas, as per IS 4954-1968 are:

Ans - 1. 40-50 dB
< 2 30-40 dB
X 3 35-45dB
W 4 2335 dB

Question ID : 959784508
Status : Answered
Chosen Option : 2

Q.9 Tn a fluid, the shear stress is directly proportional to the rate of shear strain is called as
1

Ans X1 dilatant fluid
< 2. thixotropic fluid
' 3. Newtonian fluid
< 4 non-Newtonian fluid

Question ID : 959784557
Status : Answered
Chosen Option : 3

99 Isohyets are the imaginary lines joining the points of equal

Ans - of 1. rainfall
< 2. pressure

3. height
/< 4 humidity

Question ID : 959784529
Status : Answered
Chosen Option : 1

%9 Negative pore pressure can develop in

Ans - X 1. dense sand and normally consolidated clay
« 2 dense sand and over-consolidated clays

/< 3. loose sand and normally consolidated clay

/< 4 loose sand and over-consolidated clays
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Question ID : 959784553
Status : Answered
Chosen Option : 4

@9 Which of the following is NOT a sedimentary rock?
Ans  of 1. Dolerite

< 2. Sandstone

< 3 Gravel

/< 4 Lignite

Question ID : 959784541
Status : Answered
Chosen Option : 1

Qég The canals which carry water only in rainy season are known as
Ans X 1. permanent canals

« 2 perennial canals

& 3 none of the others

< 4 inundation canals

Question ID : 959784530
Status : Answered
Chosen Option : 3

Q.9 Which of the following statements are true?
6
() Intermittent fillet weld shall have an aﬁecﬁﬁé.‘léngﬂ;'ﬂf 1ot less than 4 times size of weld.
(b) Intermittent fillet weld shall have an effective length of not less than 20 times the thinner part connected.
(¢) Intermittent fillet weld shall have an effective length of not less than 40 mm.
(d) Intermittent fillet weld shall have an effective length of not less than 200 mm.

Ans XK1 (b) and (d)
v 2 (a)and (c)
X 3 (a), (b) and (c)
X 4 (a), (b) and (d)

Question ID : 959784597
Status : Answered
Chosen Option : 2

Q.9 Anowner has installed an air cooler in a building at a cost of 28,000. If the life of the air cooler is 18 years, calculate the
7  amount that should be set aside annually as sinking fund to accumulate the above cost at 5% compound interest.

Ans 1. 2522
v 2 7284
X 3. 3400
X 4 2300

Question ID : 959784534
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.9 When the surface of the spillway is made to coincide with the shape of the lower nappe of a fiee- falling-water jet. then
g itisknownas <

Ans X 1. siphon spillway
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X 2. chute spillway
X 3. freefall spillway
W 4 ogee spillway

Question ID : 959784528
Status : Answered
Chosen Option : 4

Qé9 What will be the target average compressive strength after 28 days for an M40 conerete mix
design?

Ans X 1. 46.6 MPa
< 2 44 MPa
X 3. 45 MPa
W 4 4825 MPa

Question ID : 959784581
Status : Answered
Chosen Option : 4

2 The task work per day for RCC items is
Ans 3¢ 1. 5 mP/mason/day

< 2. 1.33 m¥mason/day

+ 3. 3 m¥mason/day

X 4 1 m¥/mason/day

Question ID : 959784539
Status : Answered
Chosen Option : 3
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